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(m) (KN/mm?) (mm?) (kN) (mm) (m) (KN/mm?) (mm?) (kN) (mm)
AB 3.43 6.9 28,800 -1.346 -64.7 1.50 AB 3.43 6.9 28,800 -1.346 -31.3 0.73
BC 2.45 6.9 28,800 -1.346 -45.6 0.76 BC 2.45 6.9 28,800 -1.346 -22.1 0.37
CF 2.45 6.9 28,800 -1.346 -45.6 0.76 CF 2.45 6.9 28,800 -1.346 -22.1 0.37
FH 3.43 6.9 28,800 -1.346 -64.7 1.50 FH 3.43 6.9 28,800 -1.346 -31.3 0.73
BE 2.61 6.9 14,400 0.000 -202 .00 BE 2.61 6.9 14,400 0.000 -86 0.00
14 336 | E2e5~134F7H EF 2.61 6.9 14,400 0.000 -202 0.00 EF 2.61 6.9 14,400 0.000 -86 0.00
BD 1.27 6.9 14,400 0.000 0.0 0.00 BD 1.27 6.9 14,400 0.000 0.0 0.00
FG 1.27 6.9 14,400 0.000 0.0 0.00 FG 1.27 6.9 14,400 0.000 0.0 0.00
AD 3.19 6.5 28,800 1.250 60.0 1.28 AD 3.19 6.5 28,800 1.250 29.0 0.62
DE 2.28 6.5 28,800 1.250 60.0 091 DE 2.28 6.5 28,800 1.250 29.0 0.44
EG 2.28 6.5 28,800 1.250 60.0 091 DG 2.28 6.5 28,800 1.250 29.0 0.44
GH 3.19 6.5 28,800 1.250 60.0 1.28 GH 3.19 6.5 28,800 1.250 29.0 0.62
CE 2.18 6.9 14,400 1.000 19.8 0.43 CE 2.18 6.9 14,400 1.000 22.8 0.50
15 336 TB9TH §=X (N +N-L)/(EA) =933 mm 5§=X (N *N-L)/(EA) = 481 mm




16 336 THB51TH dmax = §X Cep X Cj = 9.33X2.0 X2.50 = 46.7 mm dmax = §X Cep X Cj = 4.81X2.0 X2.50 = 24.1 mm

17 336 | T2 B247H BRI DM oMBEREH oMLY . 17150 &35, BB ORMOELY . 1200 &35,

18 336 T514TH dmax =467 mm = (F=bAHfIRE X L) = 72.8mm - -+ - OK dmax =241mm = (Z2bZAHRE X L) = 546mm - - - OK
19 347 | P bAfTH BAREICHO DM OMBREMOME v . 17150 BREICHO MM OMERE oM I v . 1./200

20 347 TabH2ATH = (JeoAHiIRE X L) = 66.7mm- - - OK = (FebAHRE X L) = 501mm- + - OK




